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For problems 10-15, use the slope fields provided on the next page.
10) Which slope field is for the differential equation y'=y?  C) Il

11) Which slope field is for the differential equation y' = Yo D) IV
y

12) Which slope field is for the differential equation y'=sinx? B) Il

13) Which slope field is for the differential equation y'=2x? E)V
14) Which slope field is for the differential equation y' = e 9 A)l
15) A particular solution curve of a differential equation whose slope field is shown in II passes through the

point (0,-1). Its equation is:
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